L TE IR PR
2023 FRMENBE (BF) FRHEE
—\ FIERE (RAARRGRIERD, HEERESHIT “v7, [T “X”)
184 4={,2,3,4}, B={3,4,5,6}, MANB={3,4}. ( )

2.8%45A={0, 2, 4}, B={3, 4}, MANB={2}. ¢ )
3EAA={1, 3}, B={2 , 4}, MAUB={1,2,3,4}. ¢ )

4. 8&A={1, 2}, B={3}, MAUB={1,2,3}. ( )
5 XF 0 BT AR ARBEMRNEER{,2,3}. ( )
6. XF 1 BT 3SHMBERMERNEER{2}. ( )
7.0FRa=0, MbHab=0. ( )

8. MR ab=0, MbFa=0. ( )

9.884A={-1, 1}, B={1 , -1}, MA=B. ¢ )
10.&4&4A={0, -1}, B={1 , -1}, MA=B. C )
11.8&8A={0, 1, 2}, M1eA. C )
12.848A={3, 5 7}, Miea. ( )

13. ANB=BNA.( )

14. AUB=BUA.( )

15. BHI2EEU ={1,2,3,4,5}, 4={1,2,3}, W AMRFECA={4, 5}. ( )
16. #F&A={1, 2}|WMBFHEARS.{1}.{2}.{1, 2}. ( )
17. R a>b,b>c, MbBa>c. ( )

18. WRa>bh, MibBa+c>b+c. ()

19. AR x-3>2, MbBx>5. ( )

1 2
20. —>=,
03>3 « )

21. AR a>h, ¢>0, MArHac>be. ()
22. $%iﬁ3x<6ﬂqﬁ%§5{x|x>2}. C )
23. AFR (r-D(x+1) <0 BIBERR (x|-1<x<1}. )

1



24. 256<265.( )

25. 8RE {+x> 2} REAXER 2,+0). ()
26. £ E (xp<x <4y FTRARXMBE] 4. C )
27. FFR |4 <1 ORBERA (c[-1<x<tf. ()
28. AFX |2x 3| < I BIMEER A9 {x|o<x<2}. (
29. WERH 1 (x)=x*, W r(3)=9.( )

30. EH /(x)=x+5, W r(1)=8.( )

31. BH / (x)=x BOESUBRE (x]x>0}. ( )
32. M £ (x) — - MOFESCBR [+ -0} ()
33 WEH f(x)=2x+1, W r(0)+rM)=3.(C )
34. WERH f(x)=x+2, W r(6)-r0=6.( )
35. ¥ 1 (x)=x* BIBEH. ()

36. R /() =2 BIBEH. ( )

37. R /() RIBRE, W r(3)>r0. )
38. ERH 1 (x) BAEREL, W r(5)<sr@. ()
39. 4% d*=a. C )

40. (i’ =a>. ()

41, (ab)’ =a’p’. (C )

42.3">3°. ()

43.2”7 <2, ()

44. ERHL £ (x)=x" RIBRE. ( )

45. R f(x)=x" BREEE. ( )

46. R f(x)=5 —ERE. ( )

A7. BB f(x)=05—REH. ( )

48. a>0B a#1, Miog,1=0. C )

49. a>0Ba#1, Miog,a=1. C )



50.

51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

61.

62.

63.
64.

65.

66.
67.
68.
69.
70.
7.
72.
73.

a>0B a=1, Wiog, a*=3. (

a>0Ba=1, WMiog,a*=0.

1

» M r-n=-2. (

(a6)5=a3(a>0). « )
1
(@)=a*>.( )
I
(az)E—a(a>0) ¢ )
23
(@)?=a(a>0). € )
2 +3°=17. ()
2 1
8 +92=1.( )
32
164 +273=17. C )
[x+43, —2<x<0
TO=1521, o<x<s
3 x+3, —2<x<0
Jx)= x—1, O0<x<5

BRE y = lgx BIRE SRR {x|x > 0} . (
ERE S () =1g(x-2), W f(x+2)=Igx. ()

180" =27. ()

0°=0 CINEE). (

§in30° = (
2
cos60 =1. (

tan45 =1. (

sin(a +k*360") =sina (keZ). (

)

)
)

)

(

)
)

cos(ar + k360" ) =cosa (keZ). (

tan(ar + k360 ) =tana (ke Z) . (

sin(—a) =—sina .

cos(—a) =—cosa

(

- (

tan(—a) =—tana .

(

)
)

)

)

)

, Mray=0. (

)

)

)

)



74. sin60° = % ¢ )

75.sin90° =1. (C )
76. cos0 =1. ( )
V2

77. sin45 = ¢ )
2
78. sina +cos’a=1. ( )
79. tana= c?sa . )
sina

80. B HloBRE—RIRA, ﬂsinaz%, ﬂ“cosaz%. ( )

81. BT (o, HBRMARR 0, =2n+1, WMas=11. ( )
82. BA¥I (o, | B ARR a, =n+9, May=11. )

8351.2.3.5.6.7. -, WERFEMZMEM. ()
84. #FYo0, 5, 10,15, 20,25, - , MEWRTEAMSZ M2 60. ()
85. #3312, 4,6.8,10, 12, - , BBRARE. =20, ()

86. ¥iF1,3,5,7,9, 11, - , BEMARRq, =2n. ()
87. %52, 6,10, 14, 1ISREXFHI. ( )

88. #31,2,3,4,5,6, - - , BESHI. ()

89. #F1, 6,11, 16, 21,26, - ---  HFEHT, MEMAEI=5. (
90. BHB (a,) HFLLEF, a,=2, as=6, Wa=12. ( )
1. @Ea=(x,3), b=(-1,y), a=b, Mx=-1,y=3. ( )
92. [a)® a=(x+1,0), b=, y+1), a=b, Mx=0,y=-1. ( )
93. @& a=(5,6), b=(1,1, atb=6,7). ()

94. [a® a=(3,9), b=(2,5), a=b=(1.,4). ( )

95. [E& a=(2,2), b=(1, 1), 2atb=(5,3). ( )

96. @B a=(4,3), b=(2,2), 3a=b=(10,7). ¢ )

97. @ a=(1,2), b=(0, 3), 2a+3b=(2,13). ( )

98.[E&® a=(3,5), b=(1,0), 3a=2b=(7,15. ( )

99. @& a=(m,3), b=2,1), a/b, Mm=6. C )



100. EJ& a=(6, 10), b=(3,5), Ma/b. ( )

= BUUEREE OFBERERINFEANERESRA)
1.EE& 4={-2,0,4}, B={3,4,5}, MaNB= C ).
A {4} B.{-2,0,3,4,5} C. {0,3,4}
2.%8&A={1, 2, 3,4, 5}, B={1, 3, 5}, ManB= (C ).
A {1, 2, 3,4, 5} B. {2, 3,4 ¢ {1, 3, 5}
3&EAA={-1,0, 3}, B={0 , 4}, MAaUB= ( ).

A {-1, 0} B. {~1,0, 3, 4 ¢ {0}

4. &A={0, 2}, B={1, 3,5}, MAUB= C ).

A {1, 2,3,5} B. {0,1,2 3 5 ¢ {01, 2}
5. XF 3 H/vF s MATARHAERNEER( ).

A {4} B. {1, 2 3 5 ¢ {3 4 5}
6. XFFT 1 BMTET IMMBEHERNESR( ).

A {1, 2, 3} B. {1, 3} ¢ {3, 4, 5}
7.a=0Rab=01 ( ).

A FEFRHE B. #EXMH ¢ AEEH
8. ab=0a=01 ( ).

A FEFRHE B. XEF£H ¢ AEFH
9. &L&{-1,3}={x,3}, M C .

A. x=3 B. x=1 GC. x=-1
10. &&{x, 1} ={2,y}, M ( ).
AL x=2,y=1 B. x=1,y=6 0. x=2,y=2

M. FTIRREREZEXRRERBE ().

A 0e{l, 2,3} B. 0e{0,1, 3, 5 C 3ef{-1, 1, 2}
12. FIRRSHKEZEXFRERBE ().



A 0e{0} B. 2¢{0,1, 3, 5} C. 0ef{-1, 1, 2}

13. TR AXEMHZE () .

A. ANB=BNA B. AUB#BUA C. ANB=BNA

14. BHM2%LU={1, 2, 3, 4, 5}, A={2, 3, 4}, M ARFEECA=(

A {-1, 0} B. {1, 5} c. {0}

15. £86U0={-3, -2, 0, 2, 3}, A={-3, -2, 2, 3}, M ARIHEECA =(
A {-3} B. {3} c. {0}

16. 8&A={-1, LJMIRATFEAR ( ).

A o,{-1},{1},{-1, 1} B. {-1},{1},{-1, 1} ¢. {-1},{1}
17.00%Ra> b >0, MAF( ).

A. -a>-b B. a°>bp’ C. a-b<0
18.NRa<b<0, MAH( ).

A. —a>-b B. 2a>2b C. a-b>0
19. MR 2x-3<1, MBHC ).

A. x>0 B. x<3 C. x<2

20. THXRNERMBIZ ( ) .

A. x2+1<0 B. %>% C. 319>3¢

21.0MBRa>ph, ¢c>0, MrBH( ).

A. a+c<b+c B. a—c<b-c C. ac> bc
22. 7R 2> s BER () .

A {x|x>4] B. {x|x>2} C. {x|x<6}
B.AFRN-D+) <0 RER ( ) .

A {x]-2<x<2} B. {x|0<x<2} C. {x]-2<x<0}

24. THIXRNERMBZE ( ) .

A. 257 <35? B. %<% Cc. 5°<5°

25. &RA (x> 3 REAXER C ) .

A. (o, +w) B. (3, +m) C. (2, +)

).

).



26. %ﬁ’{x|0<x<3} xrAXER ( ).
A (0, 3) B. (3, +) C. (o, +)
27. ﬁ‘%{x|x<l} FrAXERE ).

A. (o, 1) B. (-, +w) C. (2, +x)
28. FFR [2x-1| <3 HUMREER ().
A {x]-2<x<2} B. {x|-1<x<2} C. {x]-2<x<0}

29. WERB /(x)=3x-1, M r1)=( ).

A. 0 B. 1 C. 2

30. &M /(x)=2-3x, W r0)=( ).

A1 B. 2 C. 3

31. R¥ /(x)=Vx -3 BIEXEHR( ).

A {x[x=3} B. {x|x<2} C. {x|x<o}

32. m&f@c):xis ISR ( ).

A {x|x>2} B. {x|x¢5} C. {x|x>0}

33 REB f(x)=x-1, W r1)+r3=C ).

A. O B. 1 C. 2
34 EB £ (x)=3x-2, WMr@)-ra)=C ).
A9 B. 1 C. 2

35. ¥ £ (x)=x"R( ).

A FEH B. B C. EFFIFRERH
36. ¥ f(x)=R ).

A FEH B. B C. IEFFIFRERH
37. R¥ 1 (x) REEEH, WAE ().

A f(3)<f(1) B. f(3)>f(1) C. f(3)=f(1)
38. ¥ 1 (x) BAEREL, WA ().
A £(5)<f© B. 7(5)>/(2 C. r(5)=r©

39.454*= ().



A B. & C. &*

40. °°’= (C ).

A. o B. 4" Cc. 4

4. @y’ = ( ).

A % B. 4'»’ C. 4'»
42. @’y = ( ).

A. %% B. &%’ C. 4'»

2
43. @°%3= ( ).

A B. 4'p’ C. o

4. 5% () REIH.

A f(x)=x B. f(x)=+" C. f(x)=x°
45. iR () BREAERH.

A f(x)=x’ B. f(x)=x" C. f(x)=x"
46. ¥ () RBEH

A f(x)=6" B. f(x)=08" C. f(x)=0.03"

47. EH () FE(0,+0) LEBEY.

A f(x)=logsx B. f(x)=loggpx C. f(x)=loggx

48. «>0Ha=1, ﬂ|Jloga1= C ).

A. O B.1 C. 2
49. 1g10= ( ) .
A. O B.1 C. 2

50. log,2° = ( ) .
A. 5 B.3 C. 4
51. a>0Ba=1, Miog,a®= C ).

A 2 B.4 C. 6
1
52. @*)=( ).
A. & B. «&* C. 4



53.

54.

55.

56.

57.

58.

59.

60.

61.

62.

63.

64.

65.

@)Y= ).

a’ B. & C. &
34
(a*)3 =( )(a>0).
1 B. « Cc. &°
2
@)= )
1 B. ¢« c. 4
3P+2242°=( ).
32 B. 20 C. 60
13
8 +92=( )
20 B. 24 C. 29
3
aeH?= ( )
64 B. 20 C. 16
F) = 2x+1, —2<x<0
= 2x, 0<x <5
1 B. 2 C. 6
()= 3—x, —2<x<2
TYW=13 00k 2<x<s
1 B. 2 C. 6

Ry =log, x UENER (

{x|x> 2}

B S0 =1gx+D), W r20=C ).
C.

lg(2x +1)
360" = ( ).
2 B. 5
r=( ).

0 B. 90

sin60” = ().

B.

B. {x|x < 3}

lg(4x +1)

C. 180

).
C. {x|x > 0}

, Mrp=C ).

s, Mroy= € ).

lg(2x —1)



66.

67.

68.

69.

70.

7.

72.

73.

74.

75.

76.

77.

Booog L g V2
2 2 2
cos30°=( )
o B L o2
2
tan45°=( )
0 B. 1 C. \3
sin0" = ( ).
0 B L ¢ 2
2 2
cos0” ( )
0 B. L G 1
2
tan0 = ( ).
0 B. 1 C. 3
sin90" = ().
0 B. 1 C. ﬁ
2
c0s90 = ( ).
0 B. 1 C. ﬁ
2
THRFERBHZ ().
cos(—a)=cosa B. tan(-a)=tana C. cos(-a)=-cosa

THXFERIZ (

sin(7 — @) =sina

sin180° = ( ).

0 B. 1 C.
cosl180 = ( ).

. 0 B. 1 C.
sin2z=( ).

© | &

B.

tan(r —a) =tana

10

C.

cos(m —a)=cos



A. O B. 1 C. ﬁ
2
78. cos2z=( ).

A. O B. 1 G.%

79. sina +cos’a=( ).

A. O B. 1 C. 2
80. Bl BE—RIRA, E_sinaz%, Mtana= ( ).

A O B. -> c. >
4 4

81. BAIKEY (o, ) ERARE 0, =5n-25, Wa,=( ).
A. 10 B. 20 C. 25

82. BEIMG (o, BRARE 0, =n* +1, Wa,=( ).
A. 15 B. 17 C. 21

83MFN-1, 1, —1,1, -1, 1, - , MEMAHAMZHMRZ( ).
AL O B. 1 C. 2

84. #%10,3,6,9, 12,15, - , MEMBEMZMZ( ).

A. 10 B. 20 C. 30

85. #F4 8,12, 16,20, - , WBRARR. =( ).

A 2n B. 4n C. 6n

86. #iF -5, —10, —15,-20, =25, - --- , B ARRq = ().
A. -5n B. -10n C. 5n

87. #51,9,17,25 332 ( ).

A TBEHI B FFHI

88. #F3, -3,3, -3, - - , =( ).

A TFHI B BAFH

89. #Fls, 8, 11, 14,17, - - AFEHI, MWEHNAEI=( ).
A 2 B. 3 C.4

90. BHEF (0, WELLEF, o =2, a,=16, MAs=( ).
A 2 B. 3 C.4

11



91. @B a=(2x,2), b=2.y), a=b, W ( ).

A x=-1,y=0 B. x=1,y=2 G x=1,y==2
92. @& a=(x-1,3), b=, y+3), a=b, M( ).
A x=2,y=0 B. x=1,y=2 C. x=2,y=2
93. B a=(2, -5, b=(-2,5), atb=( ).

AL 1,0 B (0,0 G (0,5)

94. O] a=(8,8), b=(6,3), a=b=( ).

AL (2,3 B (0,0 G (2,5)

95. @Ea=(0,1), b=(2,0), at2b=( ).

A (4, 1) B. (0, 0) C. (2,2

96. [@E a=(, 3), b=(2, 2), 3a-b= ( ).

A (1,00 B (1,1) C (1,7)
97.@mEa=(1,2), b=(0,3), 3at2b=( ).

A (3.,9) B. (0, 0) C. (2.2

98. @B a=3,5), b=(1,1), 4a=3b=( ).

A. (9, 17) B. (10, 10) C. (2.,2)

9. @Ea=(m-1,6), b=3,3), a/b, Mm= ( ).
A1 B. 7 C. 2
100. B & a=(m, 2), b=, -3), alb, Mm= C ).
A1 B. 6 C. 3

12



REER
—. FlHrE;
1. 43 2. X; 3.4 ;4 43 5. 4; 6 4 ;7. 4; 8 X; 9. 4;10. X;
1M1.4; 120 X; 13. ¥ ;14 ¥; 15, 4516, ~ 5 17. ¥; 18 4 ; 19. 4;
20.X; 21. ¥ 522 X ;23 4 ;24 4 ;25 X ;26 43 27. 4 ; 28. X;
29. ¥; 30. X3 31. ¥ ;32 ¥ ;33 X ;34 4; 35 4 ;36X ; 37
38. V3 39. 4 ;40. X; 41. ; 42, V343 X ; 44 V; 45 4 ; 46
47. 4 ; 48. ¥ ; 49. 4 ;50. v; 51. X ; 52. ¥; 53. ¥; 54. 4; 55

56. + ; 57. X ;568. 4 ;59.X; 60. v; 61. ¥ ; 62. J; 63. X; 64.

L N Y e N

65. V3 66. X ; 67. ¥; 68. 4 369. 43 70. ;3 71. 4 ; 72. X; 73. ;
74. X; 75. 4 376. ~ ;77. 4 ;78. 4; 79. X; 80. X; 81. «; 82. X;
83. ¥ ;84.X ;85 J ;86 X; 87. X; 88 +; 89 J; 90. X; 91. V ;

92. V5 93. ¥; 94 J; 95. X ;96. J¥; 97. ¥; 98. ¥; 99. ¥ ; 100. .

=\ BIgERES

1. A; 2. G; 3. B; 4. B; 5 A; 6. A; 7.A; 8 B ; 9. C; 10. A;

11. B; 12. A; 13. C; 14. B; 15. C; 16. A; 17. B; 18. A; 19. C; 20. C;

21. GC; 22. A; 23. A; 24. A; 25. B; 26. A; 27. A; 28. B; 29. C; 30. B;

> > > >

31. A; 32. B; 33. C; 34. A; 35. B; 36. A; 37.B; 38. A; 39. C ;40. B;
41. A;42. B; 43. C; 44. B; 45. A; 46. A; 47. B; 48. A; 49. B; 50. A;
51. C; 52. B; 53. C; 54. B; 55. C; 56. A 57. C; 58. A ;59. B; 60. A;
61. G; 62. B; 63. A; 64. C; 65. A; 66. B; 67. B; 68. A; 69. C; 70. A;

71. B; 72. A; 73. A; 74.A; 75. A; 76. C ;77. A; 78. B; 79. B ;80. B;

81. C; 82. B; 83. A; 84. C; 85. B; 86. A; 87. B; 88. A ;89. B ;90. A;
91. B;92. A; 93. B; 94. C; 95. A; 96. C; 97. A; 98. A; 99. B ;100. B.
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	28.不等式的解集为
	33.设函数，则
	34.设函数，则
	A.         B. 
	28.不等式的解集为(   ).
	A. 0       B.1     C. 2   
	34.设函数，则
	A. 9       B.1     C. 2    
	A. 奇函数       B.偶函数     C. 非奇非偶函数     
	A.       B. 

